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F4 SHEEER 1,633 1,441 3,074
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%9 tBHHRISY 933 933 1,866
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%12 & HILEEEFR 1,191 1,283 2,474
%13 FRAREE 1,710 1,926 3,636
%14 FRH/NER 1,036 1,078 2,114
%15 E /MR 975 915 1,890
%16 = HEBRKOR 1,323 1,487 2,810
F17 EH/PNER 853 869 1,722
%18 Z-5%BE 1,349 1,330 2,679
%19 AR HE 1,071 1,132 2,203
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%22 A/NER 530 551 1,081
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%29 MEREE 68 72 140
%30 mEhRELE 348 432 780
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%32 ERZ BN EE 54— 1,242 1,132 2,374
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40 EIDABEITELDR 1,567 1,595 3,162
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%43 EfR4TBRTAREE 1,638 1,753 3,391
a4 BETSY 1,337 1,303 2,640
45 FHHFH/NER 1,770 1,765 3,535
5546 AILFr—t 32— 1,382 1,365 2,747
F47 A H/NER 1,654 1,740 3,394
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%50 BRHETNZEE 387 379 766
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ZIEXE |ERFHMRERRAE L F— 39 29 68
RERET |AlShHHNE 52— 32 36 68 846 895 1.741
ENRXE (BNEREIS2=T4T5Y 379 405 784
BINRESE?2 HENRAETE 290 299 589
SANERERXES [F)IRE Lt EE e 54— 298 307 605
HNERXES [ BEEFT 16 12 28
HNERXES (AR08 95 89 184
AINREXEES |PEFHERM 145 155 300 19293 1267] 2490
AEXFE1 | KEEEFNRERELV 22— 65 72 137
AKEXE2 | KEZEHR—ILANGHUE 291 361 652
AERHES | KBEEFRELV2— 74 69 143
AEXEL | KEHGEEFE L 2— 58 48 106
REXES ERENERERELVF— 56 54 110 544 604 1148
HXET |BEOLKE 85 80 165
MRXE2 |BHEE 291 314 605
BMRXE3 (A NHLMABRKRRIEER 102 100 202
WEXFE4 |AEILFEMIRR 24 26 50
HMRXES |EEEMHEEVS— 23 25 48
MXE6 | LERFR 41 42 83
BEXET |[HREE 92 138 230 658 795 1383
MIBXE1 (M3 =—T4T5Y 930 1,044 1,974
MBXE2 | AL ESEFEFER 525 568 1,093




X Et

LEERR . LT - I =
SEX-IREMD AT Bt Eog ks &t EJ Tk z

X ES | £ TFENER 691 747 1,438

MIBXE4 |MHIBAEE 509 498 1,007

MBXES |t/ tXIZa=TsE05— 95 105 200

X6 | TRINNER 577 602 1,179

MIBXET (MR RER)IHEE 191 213 404

X8 | HilE)I# K5 60 60 120

MIEXE9 |[LRER 21 12 33 3,599 3,849 7.448

KBREL [ KEETHRER 877 949 1,826

KBRE2 | KBET/NER 1,176 1,192 2,368

KBEEI |EimERTASE 911 1,007 1,918

KBXFEL |(BiRETAREE 117 133 250

KBEES | KBEAEHELZ— 624 667 1,291 3705  3.948]  7.653

EHXE |[EWIZ2a=T4TSY 737 701 1,438

HEHEE2 |FlNER 1,765 1,791 3,556

WEHXES [ERhRAREXRIRHDE 247 241 488

ERHXE4 EEtX A REESE 297 311 608

ERXES |BAREE 409 417 826

HERHXEe |SEEtX N RERAESE 186 172 358

BEEXET | KEEHAREE 40 33 73 3,681 3,666 7.347

TIXE2 [(RtgEEFE L 5— 125 114 239

SIIXE |RAFEEFAFZEES— 192 204 396

HIRXEL | TREERFE L 2— 98 122 220

FIXES |[FiRsnbL 72— 65 74 139

TIRE6e (FIREES2— 512 544 1,056

HINRET [FNNHRARENTESEE 224 219 443

SIIXES |HIEMREERRt2— 308 331 639 1504|1608 3132

PXET |BREEE2— 147 140 287
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